
�)��� ¥oª����	��

���"��#3�H��*$����/ �	�"�&/ ��L.L.�bM0�.��O ���	�����HEF�H�-�	�����(� � �!��*,���-�	�.� � � � �!/ � ��*,�	� ���<9�� 9 *�� #$*�L.��� � / �	�"����	�����HEF�H�-�3�.� ��L M6�HR��0��# � ��9 �����1���	�"��#	M0�.�	�G*�� #$*�L ����
 5 / �����	�����HEF�H�-� �.�!��L M6�HR�� ��# � ��9 ���:� L.���.� M0�-R�
 5 / ����	�����HEF�H�-�3�.� �"���0��L.M �bR:�0��# � ��92O��.%��G���1���"��EF�2L �G��/ � / � �2*,�	� ���1��� �	�2��� �	�"�G���	�����HE �H�4�3�.� �"���0��# � �Q/B��#�	����� / � ��*,�	�.���<

V�W�X = A � �BA �:C A 5 A = � �BA �:C A 
 � �

V�cdX 2 %���#	R�/ � ��*,�	� ���<9)� �BA �I9<�	�2���3� ��*,���4�	�.� � � � � ���������.�-����#	%���L 9	� 
���
�� 9 �������������4�	� �"��#$� %����	� %��&���J�	������.�-����#	%���L 
 � �

V�g�X 5 / �J�.�;�F�����	� �	�.%��3*,���-�	�.� � � � �;/ � ��*,�	�.��� / ��# A�� ¨F����� � / L.�.E_���� � �BA �K5�¨�9��	���H�
� �e � �BA �:C A *,���-%���#	O��H��
 � �

���G� «F�(��� �4�	�I�I
 5 /�� �.�6�	�"�Q/ � ��*,�	�.��� �"��P2�"�H� /B��# A�� ¨ �-R�� �BA �K5 = _
e

Z��
�

C � 9��	�"�bM �	�����
=�� �BA �:C A 5 A � �BA � 7 Z _ �"! D

University of Michigan Department of Mathematics Winter, 2004 Math 116 Exam 1 Problem 4


